Geometry Honors Name: /?/ﬂ //555 Date:
Chapter Transformations .
~ Day 1: Overview of transformations

Warm-Up
1. The coordinate of A on the number line is x-5 and the coor-dinafe of B is 2x+5, AB = 11.
Find the coor‘dmaTe of A. Lase| ¢ pet i
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A transformation is a change in the !?&f Hon ,_ Sha ge , and/or

P

( R of a figure. The orlgmal figure is called the Df’ 2 -/ M A€ and the

transformed figure is called the ’ é’Mm .

A transformation is a function:

Functions have input— output; so, transformations have _{{Z. (Mb4e. —_ i maa € -

!(?Hyéd K (ﬁf)ﬁfﬁj ?‘

Mapping - is a term used to mean a transformation is taking place.

Rigid Motion or Isometry: A transformation that changes the position of a figure without
changing shape or size.

Trass [adions é?{ /é’ 5-7?%F£?W§_ L OGS are rigid motions,

Properties of rigid motion: The following are preserved: distance, ang!e measure, betweenness,
collinearity, paralielism

Then what is NOT a rigid motion? D //ﬂ' 7@ ons

\. sordinate notation- When you use coordinates to show the transformation or to s‘ra’re the rule
of the transformation. /Z/ﬁ( CK ‘f) —7 Cx ! ‘f’“ *—)
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r L. @md the unknown coordinates for each Turansfor‘ma'hon anQaw the image. Check if each
j is a rigid motion or a hon- rigid motion,
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(./\2. Use coordinate notation to write the rule that maps each preimage to its image.
Then determine whether this is a rigid or nonrigid motion.

AJKL maps to AI'K'L': Preimage Image
J@4,1 —>  J'(4,3)
K(-2,-) =% K (-2,-3)
L{,-3) —7» L'(0.,-9

Rule in coodinale notation : O(,l/) —> (x z%t)
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(\ ‘ranslations:

A Vector: A quantity with both magnl?ude and direction. u;f %ﬁm}fﬂj
( /@(/Lﬁf* ) A 00
—F
The hame oF 1his veelor
s B or T £ _Sinitial poink

Translation: A translation is a transformation along a vector
such that the segment joining a point and its image.....

y_has fle some lengfh as the vectr

2) _IS ’Mmﬂ A £ Ao vector.

Two ways to describe a translation: J/
—>
Coordinate notation: ()( \/ — <P< + 4 f;/" é’/}
, TN
¢ (% v) ~ (>< a4, y+b)
~omponent Form of a vector: >
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F? 1. Name the vector and write its component form.
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9\ . Describe the translation using Coordinate notation and component form of vector.
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3. AABC has vertices A(0,0), B(1,5) and C(4,1). State the coordinates of the image after
each translation.

Examples: >

‘_a) (x,y) > (x+ 4,y +3) - b) < 6,—4 > (x-té,_ \/_’4>
A00)> A'(# 3) A(0,0) = A6, -4)
B (45)>5'(5,8) 6(1y5)—> B8'(7,1)
Lo N—>C(8#) e, N (10, -3)

y)>(x-5y+2) . d) < —4,-5>
400> A'(-52) A0 —> 4 (1 £)
@Uﬁ)“? B (- 4 7> g(ns) —> B’ C“’j) 0)

clgn)— ¢ (2 c(t,0)—> ¢ ( 070
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. You are given the translation information and the vertices of the image. Find the vertices of
the preimage.

a) (5, 0)=> (x=2,p+1) | b) {~4,~1)
i+
A1) —> 46,2) Ayt
001> 2639 o Coor £09
C'(6,~1) Cl 2/7_#1;(&-45,}&)
C (4?) “2) 7 Ch
c)

(5, 9) = (x+ 3, + 4)
(3,4
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A ‘('}) 0) 8!(0: 4)
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